TA| 31 XN|2022-86%

[ 20224 LFAIISME QILAIYAIY 2%3HE ]

—_

2022.12.297|& / T

)

O Xl Z: 10,200,000

No At E AL E Ardy| MAFTIAN
Es=sud, gd9 | O HITEA: 54,846,000
o _ ZR2AU@DE, 23, (=H|50%, A|H|50%) O HAQIY: 1,785
1 | 388OtLHEH o S i iy 2
SUREERHL, =M | O = ¢! 54,846,000 O FEI3|5: 6943
0|8), 20| &5X|¢ | O X| &: 54,845,992
= = O Hi™EA: 22,680,000
—|OC> E I_ OA 1 1
, | ZEON e A a oim | (S8 40% Alsl 6% | O BARlEL 2572
RSt Ae] ofsiziol xxt xjgl | O T & 22,680,000 O 2 3543
= | O X Z: 22,680,000
F o M THXK|
Uqe ZA=0J0IX
Ct 2 310|6) ogﬁf:l O B %4: 15,400,000
, | 2ol omototzins orsaps | (EH1 40% Al 60%) | O &Melel : 5o
FYnSRIAAY | 2% Af o';"ﬁ;f;" O % ¢: 15400,000 O F=: 733
o1 2O X = 14354910
HY7|Z2FU] S
F x|
7| 8& A=Z=O|RIX}Y
;;o.j}e;@lowtx{ O HH7ZH: 4,580,000
4 | CESPLE ol oy ofaje rtog | (Y1 40% Albl 60%) O EAolQ: 3789
MEH= 29 = e | O % 2 4,580,000 O =ZI3l4 2093
7hY gt= MEAA =
9:' %'é,“é'i%xl-?: O X| =. 4,580,000
~ Cre2b P3O Be=t | O B89 9,720,000 O KOl 6498%
g | EhEslE Sy Y=Y K, (H| 30%, AlH| 70%) 2707%"T(5H 'i)
T=XH BEAMZRD  sia | O = ©: 9720000 o U@‘i_ 243]
A oA HEER | O A| E: 9,720,000 e
X|QZ0] olAIZIMS FA| 2 X011 | O BEE 4 17,100,000
6 | oot mairtory | SEZIthgeR QA (=8| 30% AlHl 70%) O EAQIRL: 10,593
o | MHmSS fA% 2O+ Y 17,100000 O =734 5723
= CHFM olsims O x| Z: 17,100,000
St ofH|=SEH 2 | O HIYAH: 9,000,000
7 CHE3I0tE ASoMdQl CIESRHAE (=H| 30%, AlH| 70%) O Mol 16659
O|5A0{ L= o2 O|FQ0= | O = & 9,000,000 O =734 2283
K& (B5=0, HEHO0) | O X| Z: 9,000,000
MAZZIAH/ (DS, | O HI™EH: 21,240,000
8 | #7|S0ILISE 2oh), SU2IEHY, | (=Hl 30%, AlHl 70%) | O EAelY: 966
eriETTE TA0]8), Zoto| = | O £ ¢ 21,240,000 O =8| 2208
SR O X Z: 21,240,000
= O HiE: 10,200,000
CH2Sp7tES| 7158 e
9 | CIEsIEHERY s[u me-;igf 0|§||. (==H| 30%, AlH| 70%) O HAMQIY: 87F
s ETE %Ex@ °= T= 104 210200000 O =FRIB|2: 13




No At B AtALHE At AAFEIAEH
Olo|E &0 Oo|ZHO|e| HZaz | OH.
AT x| g1 of=o| o3t wmz | O HISH: 4,250,000 ) otel e
10 | ololgmnl ey | S8t aNangan | (22 AN TASH O St 843
dzan 2 szoy | 2 Sgouys e | O F 2 400000 O Fasw s
HEH| x)2) x|l O Xl &: 1,940,000
O Hi"E<: 10,000,000
e o MOIZ=7|H 7S CfAt ' '
| 2= s SHEE R | 30w Al T | O & 747
Z2a 7_|~’E¢E§§:L . Igj’ O %= 2 10,000,000 O 3|5 323
SESEEIB A | 5 5 = 10000000
dofE7|E o297
7IE S BHRRVIE Y | O HIE: 4,000,000
1 | H7HE o2 RLXHAYHER | (=H| 100%) O &N 1028
SlS X RAY a1 A XEZMAY | O £ @ 4,000,000 O F3| 163
Z20d & 5" | O Xl & 4,000,000
HEZEOY Y
Xty YSE 5t Ue
Sof2|2 et axol ge | O HSH LSOO .
i = S o 2l 1,500,000 =212 163
"RE% CEE 2k i AEH A A32 T = LIV O ==l 162
T == S e -1 | O Xl &1 1,500,000
et o7 2atdg X|J = L
;II';]‘-AEH;E on_:cc’)l:"l O HY = 2t 10,000,000
o — x 1
JEAF AEYIA BA e - KA O] L) o
14 | MM _aﬂil_ WL | =ojs jaroz Jpar (leo|1OO% O ;*ﬂgl%. 1749
K@ A MHAX|S - Fpaae | O T & 10,000,000 O FMg|: 237
2r 2= oz x| O x| £: 10,000,000
O B 20,000,000
= LT || 2 CHst '
CIYst7=E o= AlH 0 XM O] Q) 0
15 | ot L | 1mel sojers == | ¢ 'o,mO/") SR
dOStE =23 | o O % % 20,000,000 O FTIg|5= 483
O Al %: 20,000,000
CtZ2tolsi s ZAte] | O HiEA: 5000,000
16 CtE%t Ofsiuns ZEZ% 8 M3l (AlH] 100%) O &AMl 2369
AL SHZSAY | BHESE HERE | O = ¢ 5000000 O FZ13|%= 303
ot Al M3 AHE | O X| = 5,000,000
O Hi"¥H: 6,300,000
715l ZIEAY R AEH]| (AIHI 100%)
17 _ AXIB|2: 13]/110
s 2 ZAY bS] O % % 6,300,000 O F2al5= 13)/110Y
O X £: 6,300,000
ALl Iz A| Q||
onodes, [=] H X‘iOH
Ho|0|= Heg gololz 85 o e _leHI-EI-Ig?OA?I(_)?xl_%] 100% | O AFA 019 2790
18 | ol AbCh ALOH S 10M| Ofst RHA4E & ol SE oo s ee
| OEIA|-|=| 7|_xc->|0_” O|§ Ixaqxr jlll-alj O e . 6,980,000 O —|—X|_|2|—|—: 1409.'
AFCH xlol O X %z 6,980,000
SR EPNE
AS0|F0jdo| oty
Ha mazay x| O WL 1700000 ol « 200
19 | 20|12 =z 124 2lo| =z A AME} o) O Elﬁ_‘l__t . 29:_3
= é EEJ 41 oo | O = ©: 17,000,000 O FTsl== : 453
= AN - =.
A xHoime x| O X| Z: 17,000,000
CHs Z2 3 TIMS
o %‘% CHE2H7HE LEH S 10,000,000
20 | CI=SHA stai|xiqo] amxol | (E=th=i=AlERl 100%) | O FAele 3389
HEX ALY XoFSA Gl 7AZsh O 2: 10,000,000 O FXI3|%: 253




A ARILIS AriH] ARETINE

7IESAILe] HEeaE
fiof Bdus X2 | O HI-EA: 1,500,000
2N Jfolel ATt | (SHEAMRESARECIS] 100%) | O HAMQlR: 59
Bob oiL2t s8H2 | O = ¥ 1,500,000 O Z=x

JIEAHEARE O | O X| &= 1,500,000
=]

Mas ChEeb 7Pd39l | O HIE9: 1,000,000
HE2HE 7IZ8A XY{E | @E7INRIEXESSE2aE] 100%) | O &AdQld: 10
et ERIEE R 27| | O = €: 1,000,000 O X% 13
Ots2l&F XA O Xl Z: 1,000,000

[HESE ASL}|

e
i




